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QUESTION 1

Examine this code executed in the ORA1 schema:

CREATE PROCEDURE my new proc AUTHID CURRENT USER AS
PRAGMA AUTONOMOUS TRANSACTION:
BEGIN
EXECUTE IMMEDIATE ‘GRANT DBA TOoral':
COMMIT:
EXECPTION
WHEN OTHERS THEN NULL:
END:
/

CREATE FUNCTION return_date (param1 IN NUMBER) RETURN DATE AUTHID
CURRENT _USER AS
BEGIN
my new proc:
RETURN sysdate +paraml:
END:

GRANT EXECUTE ON return_date TO PUBLIC:

Examine this code executed by DBA_USER who has been granted the DBA role:

REVOKE INHERIT PRIVILEGES ON USER dba_user FROM PUBLIC;

Examine this query:

SELECT return_date (1) FROM dual;

What is the result of executing this query in the DBA_USER schema?

A. It will fail with a compile-time error.

B. It will execute successfully and return the date but the DBA role will not be granted to ORAL.
C. It will fail with a runtime error complaining of insufficient INHERIT PRIVILEGES.

D. It will execute successfully, return the date and the DBA role will be granted to ORA1.

Correct Answer: D
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QUESTION 2

Which two blocks of code execute successfully?

A. DECLARE TYPE tab_type IS TABLE OF NUMBER; my_tab tab_type; BEGIN my_tab (1) :=1; END;

B. DECLARE TYPE tab_type IS TABLE OF NUMBER; my_tab tab_type :=tab_type(2); BEGIN my_tab(1) :=55; END;

C. DECLARE TYPE tab_type IS TABLE OF NUMBER; my_tab tab_type; BEGIN my_tab. EXTEND (2); my_tab (1) :=
55; END;

D. DECLARE TYPE tab_type IS TABLE OF NUMBER; my_tab tab_type; BEGIN my_tab :=tab_type (); my_tab (1) :=
55; END;

E. DECLARE TYPE tab_type IS TABLE OF NUMBER my_tab tab_type :=tab_type (2, NULL, 50); BEGIN
my_tab.EXTEND (3, 2); END;

Correct Answer: BD

QUESTION 3

In which two situations will a result-cached function execute even though no change was made on a dependent table or
view? (Choose two.)

A. when a function was created with invoker\\'s rights using AUTHID CURRENT_USER
B. when the database administrator has disabled the use of the result cache

C. when the results for the function have aged out of the cache

D. when the RELIES_ON clause was not used while creating the function

E. when a new session was opened to invoke the function which is already cached

Correct Answer: BC

QUESTION 4

Examine these two columns:

1. CREATE_TASK a. A constant defined for task status value

2. CHUNKED b. One of the views used in conjunction with the package
3. DBA_PARALLEL_EXECUTE_CHUNKS c. One of the procedures defined in the package

4. CREATE JOB d. A constant defined for chunk status value

5. PROCESSED e. System privilege

Which set of paired items is valid with respect to the DBMS_PARALLEL_EXECUTE package?

A. 1-c, 2-b, 3-e, 4-a, 5-d
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B. 1-b, 2-d, 3-c, 4-€, 5-a
C. 1-c, 2-a, 3-b, 4-e, 5-d
D. 1-c, 2-d, 3-b, 4-e, 5-a
E. 1-e, 2-a, 3-c, 4-b, 5-d
Correct Answer: D

Reference: https://docs.oracle.com/en/database/oracle/oracle-database/18/arpls/
DBMS_PARALLEL_EXECUTE.htmi#GUID-A31C2E84-91CC-4D35-AAFE-4E7E6609C963

QUESTION 5

Which two statements describe actions developers can take to make their application less vulnerable to security
attacks?

A. Include the AUTHID DEFINER clause in stored program units.

B. Do not concatenate unchecked user input into dynamically constructed SQL statements.
C. Switch from using DBMS_SQL to EXECUTE IMMEDIATE.

D. Include the AUTHID CURRENT_USER clause in stored program units.

E. Increase the amount of code that is accessible to users by default.

Correct Answer: BD
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